DIRECTIONS

Answers without work to check. If you cannot find your mistake then please seek help EARLY! This
assignment is worth 4 pts. 1) did you complete it 2) did you show all the work 3) did you correct in pen 4)
did you get 75% of the problems correct?

Pg. 40 answers. Check the ones you were supposed to do for your assignment.
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b, 1% in.: 2in.: 3 in.

. The equation is not solved for x because there is still a term

v+ 6
2

withxon bothsides; x =y —x+ 6, 2x =y + 6, x =

There is no x in 3b to factor out; 10 = ax — 3b;

10+3=grz= ‘":3"’
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16.5 gal: 330 mi; The amount of gasoline used can be
found using the formula from part (b). Either of the
original formulas can be used to find the distance.
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5. x=-2x=8;

no solution
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